
Math 258 Integrals September 29, 2015

sin2 u =
1

2
(1− cos 2u) cos2 u =

1

2
(1 + cos 2u) sin 2u = 2(sinu cosu)∫

tanu du = ln | secu|+ C

∫
secu du = ln | secu+ tanu|+ C

∫
du

ux + a2
=

1

a
tan−1

(u
a

)
+ C

1. Evaluate the integral

∫ 1

0

x cos2 x dx.

2. Evaluate the integral

∫
lnx dx.

3. Evaluate the integral

∫
sin3 t dt.

4. Evaluate the integral

∫ √
16− x2 dx.

5. Evaluate the integral

∫ √
x2 − 1

x
dx.

6. Evaluate the integral

∫
x√

x2 − 1
dx.

7. Evaluate the integral

∫ √
9− x2

x2
dx.

8. Evaluate the integral

∫
x3
√

x2 + 4 dx.

9. Evaluate the integral

∫ √
x2 + 1 dx.

10. Evaluate the integral

∫
4x+ 1

x(x+ 1)2
dx.


